——
N = 0] &F AF S & AN A
20218 &= 20l AF LBHSH & Al
SN 2O
HE: YA A4S
Sol EZHLAY =X EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
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= 6,425,000
Jl 8,860,000
= 36,903,532
22z Ae2g) 52,155,100 62,746,000 A 10,590,900
g 6,425,000
J| 8,860,000
o 36,870, 100
SEZOHE ALY =& 33,283,700 29,534,800 3,748,900
Fag 4,475,000
o 28,808,700
orEm Qetet Ol XAAY(=2D) 390,000 1,809,600 A 1,419,600
g 300,000
=} 90,000
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HuUtAb BlsZ2 0t X4 (=21D) 2,340,000 260,000 2,080,000
hag 1,800,000
o 540,000
403 XX SHHMS K201 A 2,340,000 260,000 2,080,000
g 1,800,000
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SN BBHLD
HE: YA A4S
R EHGE 22X e (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Fag 1,950,000
J| 8,860,000
& 7,572,000
Hdos THAAMS (H2)(=2D) 2,535,000 780,000 1,755,000
Fag 1,950,000
& 585,000
403 XX SHS K20 & 2,535,000 780,000 1,755,000
= 1,950,000
= 585,000
01 XIS AZ2E X 2,535,000 780,000 1,755,000
O&dAdS THHAIY 2,535,000
g 1,950,000
o 585,000
OlAFE YA T ALY (2D) 2,600,000 1,950,000 650,000
J| 2,000,000
& 600,000
403 XX SRS K 20| & 2,600,000 1,950,000 650,000
J| 2,000,000
& 600,000
01 MXSHHE2E =X 2,600,000 1,950,000 650,000
OO0IAIE DA ERHIZALSY 2,600,000
J| 2,000,000
&< 600,000
2BAHECA S4(J4)(2D) 5,850,000 0 5,850,000
J| 4,500,000
= 1,350,000
308 XX SHAHSOIH 5,850,000 0 5,850,000
J| 4,500,000
= 1,350,000
01 AIXSHMEMNEX= 5,850,000 0 5,850,000
OXLEHZAHEZAl 4 5,850,000
J| 4,500,000
= 1,350,000
2BABEA S4(H2)(2D) 2,600,000 0 2,600,000
J| 2,000,000
& 600,000
403 XS HS K0l & 2,600,000 0 2,600,000
J| 2,000,000
& 600,000
01 XIS A=Z2E X 2,600,000 0 2,600,000
OXNGHAEHEZA 4 2,600,000
Jl 2,000,000
& 600,000
HEZ2E NABRHL(JA)(2D) 208,000 0 208,000
J| 160,000
= 48,000
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=} 48,000
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J| 200,000
& 60,000
403 XX SHHS K20 & 260,000 0 260,000
J| 200,000
& 60,000
01 XIS A =2E X 260,000 0 260,000
OdHE otel&iE =4 260,000
J| 200,000
= 60,000
201t E R XM (MEH) 650,000 2,047,500 A 1,397,500
403 XX S M S X201 & 650,000 2,047,500 A 1,397,500
01 XS A2E X 650,000 2,047,500 A 1,397,500
O IR RESF UNINVLEY =4
&h) 650,000
EfSt2 OHUHAHH RH (M & 2,975,000 3,510,000 A 535,000
403 XX SRS K20| & 2,975,000 3,510,000 A 535,000
01 MXSHHXNE2BE =X 2,975,000 3,510,000 A 535,000
OEHE M~ EES MEIEE2 X4 (A 2,000,000
OEd sS40 MEgY2 X4 (ME 910,000
OHza LoXoMde2 XMH(MEH 65,000
AP E 2AXE o 150,000 325,000 A 175,000
403 XX S M S X201 & 150,000 325,000 A 175,000
01 MHXSHHXNE2E X 150,000 325,000 A 175,000
O} 2ts 22X Al EH| 40,000
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oO%dE &Ase =22 dUW =4 60,000
2R WL AHE =g 54,000 0 54,000
401 Al HI L 204 HI 54,000 0 54,000
01 Al&H| 54,000 0 54,000
OXABALSHI B 54,000
JdelsdY HZEZ &% 500,000 0 500,000
401 AlEHIZ 2 0HY| 500,000 0 500,000
01 Al& H| 500,000 0 500,000
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